

Available online at www.qu.edu.iq/journalcm JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS ISSN:2521-3504(online) ISSN:2074-0204(print)



# **Results on New Subclasses for Bi-Univalent Functions Using Quasi-Subordination**

## Maitham Alwan Huneidi<sup>a</sup>, Waggas Galib Atshan<sup>b</sup>

<sup>a</sup> Department of Mathematics, College of Science, University of Al-Qadisiyah,Iraq.Email: sci.math.mas.22.5@qu.edu.iq

ABSTRACT

subclasses.

<sup>b</sup> Department of Mathematics, College of Science, University of Al-Qadisiyah,Iraq.Email: waggas.galib@qu.edu.iq

#### ARTICLEINFO

Article history: Received: 31 /5/2024 Revised form: 23 /6/2024 Accepted : 27 /6/2024 Available online: 30 /6/2024

Keywords:

Analytic function, Quasisubordination, Bi-univalent function.

https://doi.org/10.29304/jqcsm.2024.16.21552

## 1. Introduction

Let *A* denote the class of all normalized analytic functions f in an open unit disk  $U = \{z : z \in \mathbb{C}, |z| < 1\}$  of the form:

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (z \in U).$$
 (1.1)

The present study introduces and examines two specific subclasses,  $M^q_{\Sigma}(\beta,\rho,\lambda)$  and

 $W^q_{\Sigma}(\tau,\mu,\eta,\varphi)$  of bi-univalent functions that are defined by quasi-subordination. We obtain

approximations for the Taylor-Maclaurin coefficients  $|a_2|$  and  $|a_3|$  for functions within these

A function f has an inverse f<sup>-1</sup> is satisfying  $f^{-1}(f(z)) = z$ ,  $(z \in U)$ , and  $f(f^{-1}(w)) = w$ ,  $(|w| < r_0(f), r_0(f) \ge \frac{1}{4})$ ,

where

$$g(w) = f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots, (w \in U).$$
(1.2)

\*Corresponding author

Email addresses:

Communicated by 'sub etitor'

If f as well as  $f^{-1}$  are both univalent functions in the open unit disk *U*, then f is said to be bi-univalent in *U* and the set of bi-univalent functions defined in *U* is denoted by  $\Sigma$ . Refer to reference [13].

Let f and g are analytic functions in A. Then f is said to be quasi-subordinate to g in U and written as follows:

$$f(z) \prec_a g(z), \qquad (z \in U),$$

if there exists  $\theta(z)$  and w(z) be two analytic functions in U, with w(0) = 0 such that  $|\theta(z)| < 1$ , |w(z)| < 1 and  $f(z) = \theta(z)g(w(z))$ . If  $\theta(z) = 1$ , then f(z) = g(w(z)), so that f(z) < g(z) in U. If w(z) = z, then  $f(z) = \theta(z)g(z)$ , and it is said that f is majorized by g and written f(z) < g(z) in U. (see [4], [15])

Ma and Manda [14] introduced a category of starlike and convex functions through the use of the subordination approach. They examined the classes  $S^*(\phi)$  and  $G^*(\phi)$  defined by this method.

$$S^*(\phi) = \left\{ f \in A : \frac{zf'(z)}{f(z)} \prec \phi(z), z \in U \right\},\$$

and

$$G^*(\phi) = \left\{ f \in A \colon 1 + \frac{zf''(z)}{f'(z)} \prec \phi(z), z \in U \right\}.$$

By  $S_{\Sigma}^{*}(\phi)$  and  $G_{\Sigma}^{*}(\phi)$ , we denote to bi-starlike and bi-convex functions f is bi-starlike and bi-convex of Ma-Minda type respectively [14].

In the sequal, it assumed that  $\phi$  of the form:

$$\phi(z) = 1 + E_1 z + E_2 z^2 + \cdots, \tag{1.3}$$

where  $\phi(0) = 1$  and  $\phi'(0) > 0$ , also

$$\theta(z) = F_0 + \sum_{i=1}^{\infty} F_i z^i,$$
 (1.4)

which are both analytical and bounded within the domain *U*. Nevertheless, the literature has only a limited number of studies that establish the overall coefficient bounds  $|a_2|$  and  $|a_3|$  for analytic bi-univalent functions. These studies are referenced in [1,2,3,5,6,10,11,14] and [12], while further references may be found in [5,6,7,8].

**Lemma (1.1) [9].** Define the function  $h(z) = 1 + h_1 z + h_2 z^2 + \cdots \in P$ , where P represents the set of all functions h that are analytic in U and satisfy Re{h(z)} > 0 for all  $z \in U$ . It follows that  $|h_i| \le 2$  for  $i = 1,2,3,\cdots$ .

### 2-Main Results

**Definition (2.1).** A function f, which is a member of the class  $\Sigma$  and defined by equation (1.1), is considered to be in the class  $M_{\Sigma}^{q}(\beta, \rho, \lambda)$  if it satisfies the following quasi-subordination conditions:

$$\frac{1}{\beta} \left[ \left( \frac{zf'(z)}{f(z)} \right) \left( 1 + \frac{zf''(z)}{f'(z)} \right) + \left( \frac{\rho z^2 f''(z) + zf'(z)}{\rho z f'(z) + (1 - \rho) f(z)} \right) - \left( \frac{zf'(z) + \lambda z^2 f''(z)}{f(z)} \right) - 1 \right] \prec_q (\emptyset(z) - 1)$$
(2.1)

and

$$\frac{1}{\beta} \left[ \left( \frac{wg'(w)}{g(w)} \right) \left( 1 + \frac{wg''(w)}{g'(w)} \right) + \left( \frac{\rho w^2 g''(w) + wg'(w)}{\rho wg'(w) + (1 - \rho)g(w)} \right) - \left( \frac{wg'(w) + \lambda w^2 g'(w)}{g(w)} \right) - 1 \right] \prec_q (\phi(w) - 1), \quad (2.2)$$

where  $(0 \le \lambda \le 1, 0 \le \rho < 1)$ , and  $\beta \in \mathbb{C} \setminus \{0\}$ ,  $z, w \in U$ , and  $g = f^{-1}$ , and the functions  $g, \emptyset$  are given by (1.2) and (1.3) respectively.

By substituting  $\lambda = 0$  into Definition (2.1), we may deduce the following Remark:  $M_{\Sigma}^{q}(\beta, \rho, 0) = M_{\Sigma}^{q}(\beta, \rho, \lambda)$ .

**Remark (2.1).** A function  $f \in \Sigma$ , as defined by (1.1), is believed to be in the class  $M^q_{\Sigma}(\beta, \rho)$  if it fulfills the following conditions:

$$\frac{1}{\beta} \left[ \left( \frac{z f'(z)}{f(z)} \right) \left( 1 + \frac{z f''(z)}{f'(z)} \right) + \left( \frac{\rho z^2 f''(z) + z f'(z)}{\rho z f'(z) + (1-\rho)f(z)} \right) - \left( \frac{z f'(z)}{f(z)} \right) - 1 \right] \prec_q (\emptyset(z) - 1)$$
(2.3)

and

$$\frac{1}{\beta} \left[ \left( \frac{wg'(w)}{g(w)} \right) \left( 1 + \frac{wg''(w)}{g'(w)} \right) + \left( \frac{\rho w^2 g''(w) + wg'(w)}{\rho wg'(w) + (1 - \rho)g(w)} \right) - \left( \frac{wg'(w)}{g(w)} \right) - 1 \right] \prec_q (\emptyset(w) - 1).$$
(2.4)

Theorem (2.1). Consider the function f defined by equation (1.1) to belong to the class  $M^q_{\Sigma}(\beta,\rho,\lambda)$ . Thus

$$|a_{2}| \le \min\left\{\frac{|\beta F_{0}E_{1}|}{|3+\rho-2\lambda|}, \sqrt{\frac{\beta F_{0}E_{2}}{5+\rho(2-\rho)-6\lambda}}\right\}$$
(2.5)

and

$$|a_3| \le \min\left\{\frac{\beta^2 F_0^2 E_1^2}{(3+\rho-2\lambda)^2} + \frac{\beta F_1 E_1}{8+4\rho-6\lambda}, \frac{\beta F_0 E_2}{5+\rho(2-\rho)-6\lambda} + \frac{\beta F_1 E_1}{8+4\rho-6\lambda}\right\}$$
(2.6)

**Proof.** Let  $f \in \mathcal{L}_{\Sigma}^{q}(\beta, \lambda, \phi)$  and  $g = f^{-1}$ . Then, there are two analytic functions  $u, v: U \to U$  with v(0) = 0 and u(0) = 0, |u(z)| < 1, |v(w)| < 1, satisfying

$$\frac{1}{\beta} \left[ \left( \frac{zf'(z)}{f(z)} \right) \left( 1 + \frac{zf''(z)}{f'(z)} \right) + \left( \frac{\rho z^2 f''(z) + zf'(z)}{\rho zf'(z) + (1-\rho)f(z)} \right) - \left( \frac{zf'(z) + \lambda z^2 f''(z)}{f(z)} \right) - 1 \right] = \left( \theta(z) \left[ \emptyset \left( u(z) \right) - 1 \right] \right)$$
(2.7)

and

$$\frac{1}{\beta} \left[ \left( \frac{wg'(w)}{g(w)} \right) \left( 1 + \frac{wg'(w)}{g'(w)} \right) + \left( \frac{\rho w^2 g''(w) + wg'(w)}{\rho wg'(w) + (1-\rho)g(w)} \right) - \left( \frac{wg'(w) + \lambda w^2 g'(w)}{g(w)} \right) - 1 \right] = \left( \theta(w) \left[ \emptyset \left( v(w) \right) - 1 \right] \right).$$
(2.8)

We define the function p(z) and q(w) by:

$$p(z) = \frac{1+u(z)}{1-u(z)} = 1 + d_1 z + d_2 z^2 + \cdots,$$
(2.9)

and

$$q(w) = \frac{1 + v(w)}{1 - v(w)} = 1 + e_1 w + e_2 w^2 + \cdots.$$
 (2.10)

Or equivalent,

$$u(z) = \frac{p(z) - 1}{p(z) + 1} = \frac{1}{2} \left[ d_1 z + \left( d_2 - \frac{d_1^2}{2} \right) z^2 + \cdots \right],$$
(2.11)

and

$$v(w) = \frac{q(w) - 1}{q(w) + 1} = \frac{1}{2} \left[ e_1 w + \left( e_2 - \frac{e_1^2}{2} \right) w^2 + \cdots \right],$$
(2.12)

then p(z) and q(w) are analytic functions in U, with p(0) = q(0) = 1. Since, v, u:  $U \rightarrow U$ , have a positive real part in U, and  $|d_i| \le 2$  and  $|e_i| \le 2$ , for i = 1, 2. Using (2.11) and (2.12) in (2.7) and (2.8), respectively, we have

$$\frac{1}{\beta} \left[ \left( \frac{zf'(z)}{f(z)} \right) \left( 1 + \frac{zf''(z)}{f'(z)} \right) + \left( \frac{\rho z^2 f''(z) + zf'(z)}{\rho z f'(z) + (1 - \rho) f(z)} \right) - \left( \frac{zf'(z) + \lambda z^2 f''(z)}{f(z)} \right) - 1 \right] = \theta(z) \left( \phi \left[ \frac{p(z) - 1}{p(z) + 1} \right] - 1 \right)$$
(2.13)

and

$$\frac{1}{\beta} \left[ \left( \frac{wg'(w)}{g(w)} \right) \left( 1 + \frac{wg'(w)}{g'(w)} \right) + \left( \frac{\rho w^2 g''(w) + wg'(w)}{\rho wg'(w) + (1-\rho)g(w)} \right) - \left( \frac{wg'(w) + \lambda w^2 g'(w)}{g(w)} \right) - 1 \right] = \theta(w) \left( \phi \left[ \frac{q(w) - 1}{q(w) + 1} \right] - 1 \right).$$
(2.14)

Given that  $f \in \Sigma$  possesses the Maclurian series specified by equation (1.1), a calculation reveals that its inverse  $g = f^{-1}$  can be expressed using the expansion described in equation (1.2). Therefore, we can conclude that

$$\frac{1}{\beta} \left[ \left( \frac{zf'(z)}{f(z)} \right) \left( 1 + \frac{zf''(z)}{f'(z)} \right) + \left( \frac{\rho z^2 f''(z) + zf'(z)}{\rho z f'(z) + (1 - \rho)f(z)} \right) - \left( \frac{zf'(z) + \lambda z^2 f''(z)}{f(z)} \right) - 1 \right] = \frac{1}{\beta} \left[ (3 + \rho - 2\lambda)a_2 z + \left[ 2(43 + 2\rho - 3\lambda)a_3 - (3 + \rho(2 + \rho) - 2\lambda)a_2^2 \right] z^2 + \cdots \right]$$

$$(2.15)$$

and

$$\frac{1}{\beta} \left[ \left( \frac{wg'(w)}{g(w)} \right) \left( 1 + \frac{wg''(w)}{g'(w)} \right) + \left( \frac{\rho w^2 g''(w) + wg'(w)}{\rho wg'(w) + (1-\rho)g(w)} \right) - \left( \frac{wg'(w) + \lambda w^2 g'(w)}{g(w)} \right) - 1 \right] = \frac{1}{\beta} \left[ -(3+\rho-2\lambda)a_2w + \left[ (13+\rho(6-\rho) - 10\lambda)a_2^2 - 2(4+2\rho-3\lambda)a_3 \right] w^2 + \cdots \right].$$
(2.16)

By combining equations (2.11) and (2.12) with equations (1.3) and (1.4), it becomes clear that

$$\theta(z)\left(\varphi\left[\frac{p(z)-1}{p(z)+1}\right] - 1\right) = \frac{1}{2}F_0E_1d_1z + \left(\frac{1}{2}F_1E_1d_1 + \frac{1}{2}F_0E_1\left(d_2 - \frac{d_1^2}{2}\right) + \frac{1}{4}F_0E_2d_1^2\right)z^2 + \cdots, \quad (2.17)$$

and

$$\theta(w)\left(\varphi\left[\frac{q(w)-1}{q(w)+1}\right]-1\right) = \frac{1}{2}F_0E_1e_1w + \left(\frac{1}{2}F_1E_1e_1 + \frac{1}{2}F_0E_1\left(e_2 - \frac{e_1^2}{2}\right) + \frac{1}{4}F_0E_2e_1^2\right)w^2 + \cdots.$$
(2.18)

By utilising equations (2.17) and (2.15) and comparing the coefficients of z and  $z^2$ , we have

$$\frac{1}{\beta}(3+\rho-2\lambda)a_2 = \frac{1}{2}F_0E_1d_1,$$
(2.19)

and

$$\frac{1}{\beta} [2(43+2\rho-3\lambda)a_3 - (3+\rho(2+\rho)-2\lambda)a_2^2] = \frac{1}{2}F_1E_1d_1 + \frac{1}{2}F_0E_1\left(d_2 - \frac{d_1^2}{2}\right) + \frac{1}{4}F_0E_2d_1^2.$$
(2.20)

By utilising equations (2.18) and (2.16) and comparing the coefficients of w and w<sup>2</sup>, we obtain

$$-\frac{1}{\beta}(3+\rho-2\lambda)a_2 = \frac{1}{2}F_0E_1e_1,$$
(2.21)

and

$$\frac{1}{\beta} [(13 + \rho(6 - \rho) - 10\lambda)a_2^2 - 2(4 + 2\rho - 3\lambda)a_3] = \frac{1}{2}F_1E_1e_1 + \frac{1}{2}F_0E_1\left(e_2 - \frac{e_1^2}{2}\right) + \frac{1}{4}F_0E_2e_1^2.$$
(2.22)

Making use of (2.19) and (2.21), we obtain

$$\mathbf{d}_1 = -\mathbf{e}_1 \tag{2.23}$$

and

$$8(3 - 2\lambda + \delta)^2 a_2^2 = \beta^2 F_0^2 E_1^2 (d_1^2 + e_1^2).$$
(2.24)

Also, from (2.20), (2.22) and (2.24), we find that

$$a_2^2 = \frac{\beta [2F_0 E_1 (d_2 + e_2) + F_0 (E_2 - E_1) (d_1^2 + e_1^2)]}{8(5 - 6\lambda + \rho(2 - \rho))}.$$
(2.25)

Applying  $|d_i| \le 2$  and  $|e_i| \le 2$  for the coefficients  $d_1$ ,  $e_1$ ,  $d_2$  and  $e_2$ , we immediately have

$$|a_2| \le \frac{|\beta F_0 E_1|}{|3 + \rho - 2\lambda|}$$

and

$$|a_2| \le \sqrt{\frac{\beta F_0 E_2}{5 - 6\lambda + \rho(2 - \rho)}}$$

Furthermore, to determine the upper limit of  $|a_3|$ , we can subtract equations (2.20) and (2.22), resulting in

$$\frac{2}{\beta}(16 + 8\rho - 12\lambda)(a_3 - a_2) = 2F_1E_1d_1 + F_0E_1(d_2 - e_2),$$

$$\frac{2}{\beta}(16 + 8\rho - 12\lambda)a_3 = \frac{2}{\beta}(16 + 8\rho - 12\lambda)a_2^2 + 2F_1E_1d_1 + F_0E_1(d_2 - e_2),$$
(2.26)

therefore

$$a_3 = \frac{\beta [2F_1E_1d_1 + F_0E_1((d_2 - e_2)]}{2(16 - 12\lambda + 8\rho)} + a_2^2.$$
(2.27)

In light of (2.24), (2.25) and putting (2.27), we have

$$|a_3| \le \frac{\beta[F_1E_1]}{(8-6\lambda+4\rho)} + \frac{\beta[F_0E_2]}{(5-6\lambda+\rho(2-\rho))}$$

and

$$|a_3| \le \frac{\beta[F_1E_1]}{(8-6\lambda+4\rho)} + \frac{\beta^2 F_0^2 E_1^2}{(3-2\lambda_-+\rho)^2}.$$

This completes the proof Theorem (2.1).

By substituting  $\lambda = 0$  into Theorem (2.1), we obtain the following corollary:

**Corollary (2.1).** Consider the function f defined by equation (1.1) to belong to the class  $M_{\Sigma}^{q}(\beta, \rho, 0)$ . Subsequently

$$|a_2| \le \min\left\{\frac{|\beta F_0 E_1|}{|3+\rho|}, \sqrt{\frac{\beta F_0 E_2}{5+\rho(2-\rho)}}\right\}$$

and

$$|a_3| \le \min\left\{\frac{\beta^2 F_0^2 E_1^2}{(3+\rho)^2} + \frac{\beta F_1 E_1}{8+4\rho}, \frac{\beta F_0 E_2}{5+\rho(2-\rho)} + \frac{\beta F_1 E_1}{8+4\rho}\right\}.$$

**Definition (2.2).** A function  $f \in \Sigma$  is believed to be in the class  $W_{\Sigma}^{q}(\tau, \mu, \eta, \phi)$  if it fulfills the quasi-subordination conditions described by equation (1.1).

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{f(z)}{z} + (\mu - 2\eta) f'(z) + \eta z f''(z) - 1 \right] \prec_q (\phi(z) - 1)$$
(2.28)

and

6

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{g(w)}{w} + (\mu - 2\eta) g'(w) + \eta w g''(w) - 1 \right] <_q (\phi(w) - 1),$$
(2.29)

where  $(\tau \in \mathbb{C} \setminus \{0\}, \mu \ge 0, \eta \ge 0, z, w \in U)$  and  $g = f^{-1}$  and the function g,  $\phi$  are given by (1.2) and (1.3) respectively.

If we put  $\mu = 1 + 2\eta$  in Definition (2.2), we obtain the following Remark such that  $W_{\Sigma}^{q}(\tau, \mu, \eta, \phi) = W_{\Sigma}^{q}(\tau, 1 + 2\eta, \eta, \phi)$ .

**Remark (2.2).** A function  $f \in \Sigma$  is considered to be in the class  $W_{\Sigma}^{q}(\tau, 1 + 2\eta, \eta, \phi)$  if it fulfills the given quasisubordination requirements defined by equation (1.1).

$$\frac{1}{\tau} [f'(z) + \eta z f''(z) - 1] \prec_q (\phi(z) - 1)$$
(2.30)

and

$$\frac{1}{\tau}[g'(w) + \eta w g''(w) - 1] <_q (\phi(w) - 1),$$
(2.31)

where  $(\tau \in \mathbb{C} \setminus \{0\}, \eta \ge 0, z, w \in U)$  and  $g = f^{-1}$  and the function  $g, \phi$  are given by (1.2) and (1.3) respectively.

**Theorem (2.2).** Let  $f \in W_{\Sigma}^{q}(\tau, \mu, \eta, \phi)$  ( $\tau \in \mathbb{C} \setminus \{0\}, \eta \ge 0, z, w \in U$ ) be given by (1.1). Then

$$|a_{2}| \leq \min\left\{\frac{2\tau F_{0}E_{1}}{1+\mu}, 2\sqrt{\frac{|\tau F_{0}E_{2}|}{1+2\mu+2\eta}}\right\}$$
(2.32)

and

$$|a_{3}| \leq \min\left\{\frac{4F_{0}^{2}E_{1}^{2}\tau^{2}}{(1+\mu)^{2}} + \frac{\tau E_{1}(F_{1}+F_{0})}{1+2\mu+2\eta}, \frac{4\tau F_{0}E_{2}}{1+2\mu+2\eta} + \frac{\tau E_{1}(F_{1}+F_{0})}{1+2\mu+2\eta}\right\}.$$
(2.33)

**Proof.** Let  $f \in W_{\Sigma}^{q}(\tau, \mu, \eta, \phi)$  and  $g = f^{-1}$ . Then, there are two analytic functions  $u, v: U \to U$  with v(0) = 0 and u(0) = 0, |u(z)| < 1, |v(w)| < 1, satisfying:

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{f(z)}{z} + (\mu - 2\eta) f'(z) + \eta z f''(z) - 1 \right] = \theta(z) (\phi(u(z) - 1))$$
(2.34)

and

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{g(w)}{w} + (\mu - 2\eta) g'(w) + \eta w g''(w) - 1 \right] = \theta(w) \big( \phi(v(w) - 1) \big).$$
(2.35)

Since  $f \in \sum$  has the Maclurian series defined by (1.1), a computation shows that its inverse  $g = f^{-1}$  has the expansion by (1.2), we get

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{f(z)}{z} + (\mu - 2\eta) f'(z) + \eta z f''(z) - 1 \right] = \frac{1}{\tau} (1 + \mu) a_2 z + \frac{1}{\tau} (1 + 2\mu + 2\eta) a_3 z^2 + \cdots,$$
(2.36)

and

$$\frac{1}{\tau} \left[ (1 - \mu + 2\eta) \frac{g(w)}{w} + (\mu - 2\eta) g'(w) + \eta w g''(w) - 1 \right] = -\frac{1}{\tau} (1 + \mu) a_2 w + \frac{1}{\tau} (1 + 2\mu + 2\eta) (2a_2^2 - a_3) w^2 - \cdots$$
(2.37)

By utilizing equations (2.17) and (2.36) and comparing the coefficients z and  $z^2$ , we obtain

$$\frac{1}{\tau}(1+\mu)a_2 = \frac{F_0E_1}{2}d_1,$$
(2.38)

and

$$\frac{1}{\tau}(1+2\mu+2\eta)a_3 = \frac{F_1E_1}{2}d_1 + \frac{F_0E_1}{2}\left(d_2 - \frac{d_1^2}{2}\right) + \frac{F_0E_2}{4}d_1^2.$$
(2.39)

Furthermore, by employing equations (2.18) and (2.37) and comparing the coefficients of w and w<sup>2</sup>, we obtain

$$-\frac{1}{\tau}(1+\mu)a_2 = \frac{F_0E_1}{2}e_1,$$
(2.40)

and

$$\frac{1}{\tau}(1+2\mu+2\eta)(2a_2^2-a_3) = \frac{F_1E_1}{2}e_1 + \frac{F_0E_1}{2}\left(e_2 - \frac{e_1^2}{2}\right) + \frac{F_0E_2}{4}e_1^2.$$
(2.41)

From (2.38) and (2.40), we obtain

$$\mathbf{d}_1 = -\mathbf{e}_1 \tag{2.42}$$

and

$$\frac{2}{\tau^2}(1+\mu)^2 a_2^2 = F_0^2 E_1^2 (d_1^2 + e_1^2).$$
(2.43)

Now, adding (2.39), (2.41), we obtain

$$\frac{2}{\tau}(1+2\mu+2\eta)a_2^2 = 2F_0E_1(d_2+e_2) + F_0(E_2-E_1)(d_1^2+e_1^2).$$
(2.44)

Applying  $|d_i| \le 2$  and  $|e_i| \le 2$  for the coefficients  $d_1$ ,  $e_1$ ,  $d_2$  and  $e_2$ , we immediately have

$$|a_2| \le \frac{2\tau F_0 E_1}{1+\mu},$$

and

$$|a_2| \le 2\sqrt{\frac{|\tau F_0 E_2|}{1+2\mu+2\eta}}.$$

Furthermore, to derive the upper limit of  $|a_3|$ , we can remove equation (2.39) from equation (2.41), resulting in

$$a_3 = a_2^2 + \frac{2\tau F_1 E_1 d_1 + \tau F_0 E_1 (d_2 - e_2)}{4(1 + 2\mu + 2\eta)}.$$
(2.45)

In light of (2.43), (2.44) and putting (2.45), we have

$$|a_3| \le \frac{4F_0^2 E_1^2 \tau^2}{(1+\mu)^2} + \frac{\tau E_1(F_1 + F_0)}{1+2\mu+2\eta}$$

and

$$|a_3| \le \frac{4\tau F_0 E_2}{1 + 2\mu + 2\eta} + \frac{\tau E_1 (F_1 + F_0)}{1 + 2\mu + 2\eta}$$

This completes the proof Theorem (2.1).

By putting  $\mu = 1 + 2\eta$  in Theorem (1.1), we get the next Corollary:

**Corollary (2.2).** Let f defined by (1.1) belongs to the class  $W_{\Sigma}^{q}(\tau, \eta, \phi)$ . Then

$$|a_2| \le min\left\{\frac{\tau F_0 E_1}{1+\eta}, 2\sqrt{\frac{|\tau F_0 E_2|}{3(1+2\eta)}}\right\}$$

and

$$|a_3| \le \min\left\{\frac{F_0^2 E_1^2 \tau^2}{(1+\eta)^2} + \frac{\tau E_1(F_1 + F_0)}{3(1+2\eta)}, \frac{4\tau F_0 E_2}{3(1+2\eta)} + \frac{\tau E_1(F_1 + F_0)}{3(1+2\eta)}\right\}$$

#### References

- Y. W. Abbas, New Studies on Univalent and Bi-Univalent Functions in Geometric Function Theory, M. Sc. Thesis, University of Mosul, Mosul, (2023).
- [2] R. M. Ali, V. Ravichandran, M. H. Khan and K. G. Subramanian, Differential sandwich theorems for certain analytic functions, Far East J. Math. Sci., 15(2004), 87–94.
- [3] F. M. Al-Oboudi and H. A. Al-Zkeri, Applications of Briot-Bouquet differential subordination to some classes of meromorphic functions, Arab J. Math Sci., 12(2006), no. 1,17-30.
- [4] W. G. Atshan and A. A. R. Ali, On sandwich theorems results for certain univalent functions defined by generalized operators, Iraqi Journal of Science, 62(7) (2021), pp: 2376-2383.
- [5] W. G. Atshan and A. A. R. Ali, On some sandwich theorems of analytic functions involving Noor- Sãlãgean operator, Advances in Mathematics: Scientific Journal, 9(10) (2020), 8455-8467.
- [6] W. G. Atshan and R. A. Hadi, Some differential subordination and superordination results of p-valent functions defined by differential operator, Journal of Physics: Conference Series, 1664(2020) 012043, 1-15.
- [7] W. G. Atshan and S. R. Kulkarni, On application of differential subordination for certain subclass of meromorphically p-valent functions with positive coefficients defined by linear operator, Journal of Inequalities in Pure and Applied Mathematics, 10(2) (2009), Article 53, 11pp.
- [8] W. G. Atshan, A. H. Battor and A. F. Abaas, Some sandwich theorems for meromorphic univalent functions defined by new integral operator, Journal of Interdisciplinary Mathematics, 24(3) (2021), 579-591.
- [9] W. G. Atshan, I. A. R. Rahman and A. A. Lupas, Some results of new subclasses for bi-univalent functions using Quasi-subordination, Symmetry, 13(9) (2021), 1653, 1-15.
- [10] T. Bulboacã, Classes of first order differential superordinations, Demonstration Math., 35(2) (2002), 287-292.
- [11] T. Bulboaca, Differential Subordinations and Superordinations, Recent Results, House of Scientific Book Publ., Cluj-Napoca, (2005).
- [12] S. S. Miller and P. T. Mocanu, Differential Subordinations: Theory and Applications, Series on Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker Inc., New York and Basel, (2000).
- [13] S. S. Miller and P. T. Mocanu, Subordinants of differential superordinations, Complex Variables, 48(10)(2003), 815-826.
- [14] Q.A. Shakir, W.G. Atshan, On third Hankel determinant for certain subclass of bi-univalent functions, Symmetry, 16(2) (2024), 239, 1-10.